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Comprehension:

The following table shows the percentage distribution of employees working in six different
departments of a company, namely, IT, Accounts, HR, Marketing, Production, and Sales in a
given vear. Number of employees working in Marketing department is 560. Based on the
data in the table, answer the questions that follow:

Department-wise details of Employees in a company
Department | Percentage Distribution of Employees
IT 8%
Accounts 18%
HR 12%
Marketing 14%
Production 32%
Sales 16%

SubQuestion No : 1
Q1 The number of employees in HR department is % less than the number of employees
in Production department.

1.64.5
2.61.5
3:63.5

4.62.5

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496187
Option 11D : 37674924101
Option 2 ID : 37674924102
Option 3 ID : 37674924103
Option 4 ID : 37674924104

Status : Answered

Chosen Option : 2
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Comprehension:

The following table shows the percentage distribution of employees working in six different
departments of a company, namely, IT, Accounts, HR, Marketing, Production, and Sales in a
given vear. Number of employees working in Marketing department is 560. Based on the
data in the table. answer the questions that follow:

Department-wise details of Employees in a company
Department | Percentage Distribution of Emplovees
IT 8%

Accounts 18%

HR 12%

Marketing 14%

Production 32%

Sales 16%

SubQuestion No : 2
Q.2

If the ratio of the number of male and female employees in Accounts department is 5 : 4 and
60% of the employees in HR department are females, then what is the total number of male
employees in Accounts and HR departments together?

1. 592
2.594
3.596

4. 598

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496191
Option 11D : 37674924117
Option 2 ID : 37674924118
Option 3 ID : 37674924119
Option 4 ID : 37674924120

Status : Answered
Chosen Option: 1
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Comprehension:

The following table shows the percentage distribution of employees working in six different
departments of a company, namely, IT, Accounts, HR, Marketing, Production, and Sales in a
given vear. Number of employees working in Marketing department is 560. Based on the
data in the table. answer the questions that follow:

Department-wise details of Employees in a company
Department | Percentage Distribution of Emplovees
IT 8%
Accounts 18%
HR 12%
Marketing 14%
Production 32%
Sales 16%

SubQuestion No : 3

.3 : . .
Q What is the average of the total number of employees in Accounts. HR. marketing. and

Production departments together?

1. 760
2.780
3. 800

4. 820

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496188
Option 11D : 37674924105
Option 2 ID : 37674924106
Option 3 ID : 37674924107
Option 4 ID : 37674924108

Status : Answered
Chosen Option : 1
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Comprehension:

The following table shows the percentage distribution of employees working in six different
departments of a company, namely, IT, Accounts, HR, Marketing, Production, and Sales in a
given vear. Number of employees working in Marketing department is 560. Based on the
data in the table. answer the questions that follow:

Department-wise details of Employees in a company
Department | Percentage Distribution of Emplovees
IT 8%
Accounts 18%
HR 12%
Marketing 14%
Production 32%
Sales 16%

SubQuestion No : 4

Q4 If the number of employees in IT and marketing department increases by 60% and 20%,

respectively in the next year, then what will be the ratio of number of employees in IT and
Marketing departments in the next year?

| 0 Y
2.3:4
3.16:21

4.2:3

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496190
Option 11D : 37674924113
Option 2 ID : 37674924114
Option 3 ID : 37674924115
Option 4 ID : 37674924116

Status : Answered
Chosen Option : 4
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Comprehension:

The following table shows the percentage distribution of employees working in six different
departments of a company, namely, IT, Accounts, HR, Marketing, Production, and Sales in a
given vear. Number of employees working in Marketing department is 560. Based on the
data in the table. answer the questions that follow:

Department-wise details of Employees in a company
Department | Percentage Distribution of Emplovees
IT 8%

Accounts 18%

HR 12%

Marketing 14%

Production 32%

Sales 16%

SubQuestion No : 5
Qs If the number of employees in Sales department increases by 25% in the next year, then what
will be the number of employees in that department in the next year?

1. 700
2. 800
3. 900

4.920

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496189
Option 11D : 37674924109
Option 2 ID : 37674924110
Option 3 ID : 37674924111
Option 41D : 37674924112

Status : Answered
Chosen Option : 4
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Match the LIST-T with LIST-II

Act

LIST-I (Environment laws) LIST-II (Year)
Air (Prevention and
A | Control of Pollution) I.|1974
Act
B.|Forest Conservation Act | IT. | 1981
Environmental
c. Protection Act e
Water (Prevention and
D.|Control of Pollution) IV.] 1986

1. A-I, B-III, C-II, D-IV
2. A-II, B-1V, C-III. D-I
3. A-IIL, B-IL, C-I, D-IV

4. A-II. B-IIL. C-IV, D-I

Options 1. 1
2.2
3.3
4.4

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496226
37674924257
37674924258
37674924259
37674924260
Answered

3
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Q.7 :
Pick the correct statements.
A. UGC regulations for plagiarism allow ten percent of similarity index
B. The emphasis on mother tongue as medium of instructions was first suggested by NEP
2020
C. Operation Blackboard was recommended by RTE 2009
D. NEP 2020 suggests 5+3+3+4 education system instead of 10+2+3.
Choose the correct answer from the options given below:
1. B and Conly
2. Aand D only
3. A, Band C only
4. B. C and D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496230
Option 11D : 37674924273
Option 2 ID : 37674924274
Option 3 ID : 37674924275
Option 4 ID : 37674924276
Status : Answered
Chosen Option : 4
Q.8 ; ; ;g : ; X
In which of the following categories did Charles Sanders Peirce classify the ‘signs’?
A. Object
B. Indices
C. Icons
D. Interpretant
E. Symbols
Choose the eorreet answer from the options given below:
1. A, Band C only
2.B, C and E only
3.C,D and E only
4. A, D and E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496205
Option 11D : 37674924173
Option 2 ID : 37674924174
Option 3 ID : 37674924175
Option 4 ID : 37674924176
Status : Answered
Chosen Option: 4
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Q.9

Options 1. 1
2.2
3.3
4.4

A. Rationalism

B. Emphasis on description of variables

C. Empiricism

D. Explores experiences, meanings, perceptions and feelings
E. Structural rigid methodology

Choose the eorrect answer from the options given below:

1. A. B and D only
2.B, C and E only
3. Aand E only

4. B, C and D only

Which of the following would apply to Quantitative research methodology ?

Question Type :
Question ID :

Option 11D

Option 31D

Status

Chosen Option :

MCQ
3767496198

: 37674924145
Option 21D :

37674924146

1 37674924147
Option 41D :

37674924148

: Answered

3
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Q.10

Arrange chronologically as hierarchy of needs.

A. Self Actualization

B. Self Esteem needs

C. Physiological needs
D. Social needs

E. Safety-security needs

Choose the eorrect answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. CED B A
2.E, D, ARBC
3.E. B, C.D. A

4. C,A.B.D.E

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496229
37674924269
37674924270
37674924271
37674924272
Answered

4
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Which among the following are correct in the light of hypothesis?
A. Tt is proved assumption
B. It should be capable of being tested
C. It should be inconsistent with the most known facts
D. It should state the relationship between variables
E. It should be limited in scope and must be specific
Choose the correct answer from the options given below:
1. A and C only
2. B, D and E only
3. A,Band C only
4. B, C and D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496201
Option 11D : 37674924157
Option 2 ID : 37674924158
Option 3 ID : 37674924159
Option 4 ID : 37674924160
Status : Answered
Chosen Option : 2
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Q.12

Options 1. 1
2.2
3.3
4.4

Arrange the following in chronological sequence:

A. Start of external services of All India Radio

B. Establishment of film Division

C. Release of talkie film ‘Alam Ara’

D. Change of name of Radio Broadcasting to All India-Radio

Choose the correct answer from the options given below:

1.C,D,A.B
2.C.,B,D.A
3.46.BC.D

4D, C.A B

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496204
37674924169
37674924170
37674924171
37674924172
Answered

3
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Q.13

Arrange the principle soil profiles from top to Bottom.

A. A- horizon
B. B- horizon
C. C- horizon
D. O-horizon
E. R-horizon

Choose the eorrect answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1A B D B O
2. B, AC, D E
3.D,A,B.C.E

4 C,B.A.E.D

Question Type :
: 3767496224
Option 11D :

Question ID

Option 2 ID

: 37674924250
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ

37674924249

37674924251
37674924252
Answered

3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

2 q 7 GET IT ON
Google Play
Q.14 i .
Arrange the steps of Data processing cycle in correct sequence:
A. Input
B. Output
C. Processing
D. Storage
Choose the correct answer from the options given below:
1.D,A,C, B
2.A,.C.D,B
3A8.BC.D
4 B.A.C.D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496219
Option 1 ID : 37674924229
Option 2 ID : 37674924230
Option 3 ID : 37674924231
Option 4 ID : 37674924232
Status : Answered
Chosen Option : 2
Q.15 A man can do a work in 10 days. The man along with a boy can do the same work in 8 days.
What is the ratio of efficiencies of work of the man and the boy?
1.2
2.3:1
3.4:1
4. 5:1
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496208
Option 11D : 37674924185
Option 2 ID : 37674924186
Option 31D : 37674924187
Option 4 ID : 37674924188
Status : Answered
Chosen Option : 4
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Q.16 )
The full form of WWW is.
1. World White Web
2. World Wide Web
3. Worst Wide Web
4. Worst White Web
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496217
Option 1 ID : 37674924221
Option 2 ID : 37674924222
Option 3 ID : 37674924223
Option 4 ID : 37674924224
Status : Answered
Chosen Option : 2
Q.17 ‘Which ethical principles need to be followed in a research project dealing with human
beings?
A, All participants must give their informed consent
B. All participants should have adequate information on the experiment in which they are
participants
C. Rough treatment of participants is sometimes justifiable
D. Some unwilling participants may be included
Choose the correct answer from the options given below:
1. Aand D only
2. A and B only
3.B. C and D only
4. B and C only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496199
Option 11D : 37674924149
Option 2 ID : 37674924150
Option 3 ID : 37674924151
Option 4 ID : 37674924152
Status : Answered
Chosen Option : 2
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.18 w ; >
Q In order to construct a good definition by genus and difference what must be avoided ?

A, Tt should state the conventional intensicn of the term being defined

B. It must state the essential attributes of the term being defined

C. The definiendum itself must appear in the definiens

D. The definiens must denote more things than are denoted by the definiendum
E. A definition should not be negative when it can be affirmative

Choose the correct answer from the options given below:

1. B and C only
2. A.Dand E only
3. Cand D only

4.B, D and E only

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

MCQ
3767496214
37674924209
37674924210
37674924211
37674924212
Answered

3
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Q.19
What can be correctly inferred from the Mood OAO in d figure.
A. Middle term is distributed in the Major premise
B. Commits illicit Minor fallacy
C. Middle term appears as predicate in Minor Premise
D. Middle term is distributed in the Minor premise
E. The predicate of the conclusion is distributed
Choose the correct answer from the options given below:
1. B and C only
2. Aand D only
3. B and D only
4. A, Cand E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496216
Option 11D : 37674924217
Option 2 ID : 37674924218
Option 3 ID : 37674924219
Option 4 ID : 37674924220
Status : Answered
Chosen Option : 4
Q.20 : : —
Who was the chairman of First Press Commission?
1. PK. Goswami
2. K. K. Mathew
3. G. S Rajadhyaksha
4. Girilal Jain
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496203
Option 11D : 37674924165
Option 2 ID : 37674924166
Option 3 ID : 37674924167
Option 4 ID : 37674924168
Status : Answered
Chosen Option: 3
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Find the next term in the following letter series.
BFD, ELG, HRI, ?
1. KUM
2. IXM
3. KTM
4. KXM
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496207
Option 11D : 37674924181
Option 2 ID : 37674924182
Option 3 ID : 37674924183
Option 4 ID : 37674924184
Status : Answered
Chosen Option : 4
Q.22 ; :
Arrange the following steps for the Inference - method of learning :
A. Conclusion
B. Reason
C. Proposition
D. Example
E. Application
Choose the correct answer from the options given below:
1. E-D-B-C-A
2. C-B-D-E-A
3. B-C-D-E-A
4. E-C-D-B-A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496194
Option 11D : 37674924129
Option 2 ID : 37674924130
Option 3 ID : 37674924131
Option 4 ID : 37674924132
Status : Answered
Chosen Option: 1
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Q.23

Match the LIST-I with LIST-II

LIST-I (Network Devices)

LIST-II (Functions)

A.|Bridge

Device that can receive
the data. analyse it and
transmit it to other
networks

B.|Router

IL.

Set of rules that decides
how computers and
other devices connect
with each other through
cables in a LAN

C.| Gateway

III.

Serves as the entry and
exit point of a network

D.|Ethernet

IV.

Device that connects
one LAN to another
LAN that uses the same
protocol

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-II, B-1IL, C-I, D-IV

2. A-IIL B-IL. C-I, D-IV

3. A-IV. B-1, C-III, D-II

4. A-1, B-1V, C-III, D-II

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496221
37674924237
37674924238
37674924239
37674924240
Answered

4
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Q.24

Match the LIST-T with LIST-II

LIST-I (Author) LIST-II (Books)
. Theories of Media,
= [FRasraicast 5 Theories of Society
The culture Industry:
B.| Manuel Castells II. | Enlightenment as Mass

Deception

Adorno. T and

- Horkheimer

III.

Public opinion does not
Exist

D.|Bennett. T

IV.

The Internet galaxy

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-III, B-1IV, C-II, D-1
2. A-IV. B-III, C-II. D-I
3. A-IIL B-1IV, C-1. D-II

4. A-III, B-1I, C-1V, D-I

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3767496206
37674924177
37674924178
37674924179
37674924180
Answered

2
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Which of the following are known carcinogens?
A. Nickel(N1)
B. Cadmium (Cd)
C. Benzene (CgHg)
D. Ozone (O3)
Choose the correct answer from the options given below:
1. A, B and D only
2. A, Cand D only
3.B. C and D only
4. A. B and C only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496225
Option 11D : 37674924253
Option 2 ID : 37674924254
Option 3 ID : 37674924255
Option 4 ID : 37674924256
Status : Answered
Chosen Option: 3
Q.26 5 . - : ]
Which of the following is an example of non-impact printer?
1. Dot Matrix
2. Daisy Wheel
3. Eine
4. Laser
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496218
Option 11D : 37674924225
Option 2 ID : 37674924226
Option 3 ID : 37674924227
Option 4 ID : 37674924228
Status : Answered
Chosen Option : 4
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Which of the following are non-projected aids?
A. Epidiascope
B. Audio Cassettes
C. Filmstrip and slides
D. Models
E. Plastigraph
Choose the eorrect answer from the options given below:
1. Aand C only
2. B, C and E only
3. A, CandD only
4. B. D and E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496195
Option 11D : 37674924133
Option 2 ID : 37674924134
Option 3 ID : 37674924135
Option 4 ID : 37674924136
Status : Answered
Chosen Option : 4
Q.28 ‘Which of the thermal pollution reduction method is most expensive to construct and operate?
1. Large shallow pond
2. Cooling tower
3. Sprinkler tower
4. Dry tower
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496223
Option 1 ID : 37674924245
Option 2 ID : 37674924246
Option 3 ID : 37674924247
Option 4 ID : 37674924248
Status : Answered
Chosen Option: 3
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Q.29

What is the full form of the acronym CBFC?

Options 1. 1

2.2
3.3
4.4

1. Central Board of Filim Censors
2. Central Bureau of Film Certification
3. Central Bureau of Film Censors

4. Central Board of Film Certification

Question Type :
: 3767496202
Option 11D :

Question ID

Option 2 ID

Option 4 ID

: 37674924162
Option 31D :
: 37674924164

Status:
Chosen Option :

McCQ

37674924161

37674924163

Answered
4
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Q.30

Match the LIST-T with LIST-II

LIST-I (Schemes) LIST-II (Objectives)
Al Malviya Mission 1 Scholarship for north-
"| Scheme " | east students
B, | Vidsrdiials L To garner international
experience
c larax 1L Relm.edlal classes and
framing
. | Professional
D.|Ishan Uday IV development of teachers

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-1I, C-III, D-IV
2. A-IL, B-1, C-1V, D-III
3. A-IIL B-1IV, C-1. D-II

4. A-1IV, B-1II, C-II, D-I

Question Type

Option 1 ID

: MCQ
Question ID :
: 37674924277
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

3767496231

37674924278
37674924279
37674924280
Answered

4
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Which among the following is not a property of chi - square distribution ?
1. For large degrees of freedom chi - square distribution approaches normal distribution
2. Chi - square is a test statistic
3. Three times the number of degree of freedom is equal to variance
4. Two times the number of degrees of freedom is equal to the variance.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496197
Option 11D : 37674924141
Option 2 ID : 37674924142
Option 3 ID : 37674924143
Option 4 ID : 37674924144
Status : Answered
Chosen Option : 4
Q.32 : .
Unnat Bharat Abhiyan was launched in 2014 for
1. Promoting entrepreneurship
2. Promoting skill education
3. Connecting higher education institutes with the society and villages
4. Cottage and mid-size industries
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496227
Option 11D : 37674924261
Option 2 ID : 37674924262
Option 31D : 37674924263
Option 4 ID : 37674924264
Status : Answered
Chosen Option : 2
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Q.33 : . : T ;
Which among the following are correct in the context of distribution of terms?
A. "A’ Proposition distributes its predicate term
B. "E’ proposition distributes its subject and predicate terms
C. ‘T’ proposition distributes only the subject term
D. *O’ proposition distributes only the predicate term
E. *A’ proposition distributes both its subject and predicate terms
Choose the correct answer from the options given below:
1. Aand C only
2. Aand B only
3.Cand E only
4.D and E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496215
Option 11D : 37674924213
Option 2 ID : 37674924214
Option 3 ID : 37674924215
Option 4 ID : 37674924216
Status : Answered
Chosen Option : 1
Q.34 : ; : :
Which of the following are correct in context of network security?
A. Virus, worms, and Trojan horse are examples of Malware
B. Trojan horse is a non-self-replicating malicious software
C. After receiving payment, if the product is not delivered it is an example of phishing
D. In https, *s’ stands for Secure
Choose the correct answer from the options given below:
1. A.Band C only
2.B.Cand D only
3. A Cand D only
4. A. B and D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496220
Option 11D : 37674924233
Option 2 ID : 37674924234
Option 3 ID : 37674924235
Option 4 ID : 37674924236
Status : Answered
Chosen Option: 3
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Q.35 . ; ; : i
Two successive discounts of 10% and 15% are equivalent to a single discount of
1.23.5%
2.25%
3.18.5%
4.22.5%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496211
Option 11D : 37674924197
Option 2 ID : 37674924198
Option 3 ID : 37674924199
Option 4 ID : 37674924200
Status : Answered
Chosen Option : 2
Q.36 ; : :
The Ten Category System that attempts to measure all the verbal interactions in the
classroom was developed by
1. Robert Flaser
2. B. F. Skinner
3. Israel Scheffler
4. Ned A Flanders
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496193
Option 11D : 37674924125
Option 2 ID : 37674924126
Option 3 ID : 37674924127
Option 4 ID : 37674924128
Status : Answered
Chosen Option: 3
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Q.37 Identify the fallacy in the following :
"How do I know that ginseng tea is a cure for the common cold? Last week I had a bad case
of the sniffles. I drank a cup of ginseng tea and the next morning my sniffles were gone.
1. Slippery slope
2. Questionable cause
3. Hasty Generalization
4. The strawman
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496212
Option 11D : 37674924201
Option 2 ID : 37674924202
Option 3 ID : 37674924203
Option 4 ID : 37674924204
Status : Answered
Chosen Option : 2
Q.38 ; : ; 2 :
Which of the following goals is not a Millennium Development goal?
1. Eradicate extreme Poverty and Hunger
2. Reduce child Mortality
3. Climate Action
4. Ensure Environment Sustainability
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496222
Option 1 ID : 37674924241
Option 2 ID : 37674924242
Option 3 ID : 37674924243
Option 4 ID : 37674924244
Status : Answered
Chosen Option : 2
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Q.39 A man gets annual pay of Rs 9.0 lakh. His expenditure and savings are in the ratio 5:1. What

1s his average savings per month?

1. Rs 15,000
2.Rs 12,500
3.Rs 16,000
4. Rs 18,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496210
Option 11D : 37674924193
Option 2 ID : 37674924194
Option 3 ID : 37674924195
Option 4 ID : 37674924196
Status : Answered
Chosen Option : 2
Q.40
Pedagogy refers to :

1. Teaching - Learning process
2. Child Psychology
3. Teaching Methods

4. Evaluation and Measurement of learning

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496192
Option 1 ID : 37674924121
Option 2 ID : 37674924122
Option 3 1D : 37674924123
Option 4 ID : 37674924124

Status : Answered
Chosen Option : 3
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Q.41 : : : : :
Which amongst the following cannot be associated with 'skills'
1. Practice
2. Learning
3. Proficiency
4. Incapacity
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496228
Option 11D : 37674924265
Option 2 ID : 37674924266
Option 3 ID : 37674924267
Option 4 ID : 37674924268
Status : Answered
Chosen Option : 4
Q.42 ; : :
Which of the following does not refer to a style of referencing?
1. MLA
2. APS
3. Chicago
4. MHRA
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496200
Option 11D : 37674924153
Option 2 ID : 37674924154
Option 3 ID : 37674924155
Option 4 ID : 37674924156
Status : Answered
Chosen Option : 3
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Q.43 - . fgoprs sy : S
In a certain coding scheme, “AC” is coded as 8 and ‘PQ’ as 33. What is the code of ‘XZ"?
1. 100
2.51
3.71
4.87
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496209
Option 11D : 37674924189
Option 2 ID : 37674924190
Option 3 ID : 37674924191
Option 4 ID : 37674924192
Status : Answered
Chosen Option : 2
Q.44 According to Naiyayikas. the universal soundness (sabdatva) inhering in sound is perceived
through.
1. Samavaya
2. Samaveta-Samavaya
3. Samyukta-Samaveta-Samavaya
4. Sarhyukta-Visesanata
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496213
Option 11D : 37674924205
Option 2 ID : 37674924206
Option 3 ID : 37674924207
Option 4 ID : 37674924208
Status : Answered
Chosen Option: 3
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Q.45

Match the LIST-I with LIST-II

LIST-I LIST-II
A.|Teaching Aids I. |Online Education
B.|Chalk-board II. [ Non-Projective Aid
C.|Overhead Projector III. i{z?;izaiﬂgifs;ing
D.|MOOCs IV.| Projective Aid

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-III, B-1, C-1V, D-1I
2. A-IL B-IIL C-I, D-IV
3. A-IL. B-IIL. C-IV. D-I

4. A-1II, B-IL, C-IV, D-1

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3767496196
37674924137
37674924138
37674924139
37674924140
Answered

4
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Comprehension:
Read the passage and answer the questions given below:

The 2004 earthquake and tsunami in Banda Aceh, Indonesia, stunned the world. It killed
over 230,000 people, and caused damage as far away as Africa. Less than a year later, an
earthquake in Pakistan killed 80,000 people. Earthquakes are sudden movements in the
earth’s crust that occur along faults (planes of weakness), where one rock mass slides past
another one. When movement along faults occurs gradually and relatively smoothly, it is
called creep or seismic slip and may be undetectable to the casual observer. When friction
prevents rocks from slipping easily, stress builds up until it is finally released with a sudden
jerk. The point on a fault at which the first movement occurs during an earth-quake is called
the epicenter.

Earthquakes have always seemed mysterious, sudden, and violent, coming without warning
and leaving ruined cities and dislocated landscapes in their wake. Cities such as Kobe, Japan
or Mexico City. parts of which are built on soft landfill or poorly consolidated soil. usually
suffer the greatest damage from earthquakes. Water-saturated soil can liquify when shaken.
Buildings sometimes sink out of sight or fall down like a row of dominoes under these
conditions.

SubQuestion No : 46

Q.46
Main cause of earthquakes can be considered as:
1. Volcanic eruptions
2. Sudden movements in the earth's crust along faults
3. Flood
4. Extreme weather conditions
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status
Chosen Option :

MCQ
3767496233
37674924281
37674924282
37674924283
37674924284

: Answered

2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eooale Play

Comprehension:

Read the passage and answer the questions given below:

The 2004 earthquake and tsunami in Banda Aceh, Indonesia, stunned the world. It killed
over 230,000 people, and caused damage as far away as Africa. Less than a year later, an
earthquake in Pakistan killed 80,000 people. Earthquakes are sudden movements in the
earth’s crust that occur along faults (planes of weakness), where one rock mass slides past
another one. When movement along faults occurs gradually and relatively smoothly, it is
called creep or seismic slip and may be undetectable to the casual observer. When friction
prevents rocks from slipping easily, stress builds up until it is finally released with a sudden
jerk. The point on a fault at which the first movement occurs during an earth-quake is called
the epicenter.

Earthquakes have always seemed mysterious, sudden, and violent, coming without warning
and leaving ruined cities and dislocated landscapes in their wake. Cities such as Kobe, Japan
or Mexico City. parts of which are built on soft landfill or poorly consolidated soil. usually
suffer the greatest damage from earthquakes. Water-saturated soil can liquify when shaken.
Buildings sometimes sink out of sight or fall down like a row of dominoes under these
conditions.
SubQuestion No : 47
Q.47 4 .

Gradual and smooth movement along fault is considered as:

1. Seismic jerk
2. Epicenter
3. Seismic slip

4. Fault rupture

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496234
Option 11D : 37674924285
Option 2 ID : 37674924286
Option 31D : 37674924287
Option 4 ID : 37674924288

Status : Answered

Chosen Option : 3
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Comprehension:

Read the passage and answer the questions given below:

The 2004 earthquake and tsunami in Banda Aceh, Indonesia, stunned the world. It killed
over 230,000 people, and caused damage as far away as Africa. Less than a year later, an
earthquake in Pakistan killed 80,000 people. Earthquakes are sudden movements in the
earth’s crust that occur along faults (planes of weakness), where one rock mass slides past
another one. When movement along faults occurs gradually and relatively smoothly, it is
called creep or seismic slip and may be undetectable to the casual observer. When friction
prevents rocks from slipping easily, stress builds up until it is finally released with a sudden
jerk. The point on a fault at which the first movement occurs during an earth-quake is called
the epicenter.

Earthquakes have always seemed mysterious, sudden, and violent. coming without warning
and leaving ruined cities and dislocated landscapes in their wake. Cities such as Kobe, Japan
or Mexico City. parts of which are built on soft landfill or poorly consolidated soil. usually
suffer the greatest damage from earthquakes. Water-saturated soil can liquify when shaken.
Buildings sometimes sink out of sight or fall down like a row of dominoes under these
conditions.

SubQuestion No : 48

Q.48 According to the passage, which of the following can cause buildings to “sink out of sight™

during an earthquake?

1. Tsunamis
2. Creep
3. Shaking of water-saturated soil

4. Soil expansion

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496237
Option 1 ID : 37674924297
Option 2 ID : 37674924298
Option 31D : 37674924299
Option 4 ID : 37674924300

Status : Answered

Chosen Option: 3
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Comprehension:

Read the passage and answer the questions given below:

The 2004 earthquake and tsunami in Banda Aceh, Indonesia, stunned the world. It killed
over 230,000 people, and caused damage as far away as Africa. Less than a year later, an
earthquake in Pakistan killed 80,000 people. Earthquakes are sudden movements in the
earth’s crust that occur along faults (planes of weakness), where one rock mass slides past
another one. When movement along faults occurs gradually and relatively smoothly, it is
called creep or seismic slip and may be undetectable to the casual observer. When friction
prevents rocks from slipping easily, stress builds up until it is finally released with a sudden
jerk. The point on a fault at which the first movement occurs during an earth-quake is called
the epicenter.

Earthquakes have always seemed mysterious, sudden, and violent. coming without warning
and leaving ruined cities and dislocated landscapes in their wake. Cities such as Kobe, Japan
or Mexico City. parts of which are built on soft landfill or poorly consolidated soil. usually
suffer the greatest damage from earthquakes. Water-saturated soil can liquify when shaken.
Buildings sometimes sink out of sight or fall down like a row of dominoes under these
conditions.
SubQuestion No : 49
Q.49 ; : :
What is the epicenter in an earthquake?

1. The point where the most damage occurs
2. The area with the highest population
3. The point on a fault where the first movement occurs

4. The center of a tsunami
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496235
Option 1 ID : 37674924289
Option 2 ID : 37674924290
Option 3 ID : 37674924291
Option 4 ID : 37674924292

Status : Answered

Chosen Option: 3
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Comprehension:

Read the passage and answer the questions given below:

The 2004 earthquake and tsunami in Banda Aceh, Indonesia, stunned the world. It killed
over 230,000 people, and caused damage as far away as Africa. Less than a year later, an
earthquake in Pakistan killed 80,000 people. Earthquakes are sudden movements in the
earth’s crust that occur along faults (planes of weakness), where one rock mass slides past
another one. When movement along faults occurs gradually and relatively smoothly, it is
called creep or seismic slip and may be undetectable to the casual observer. When friction
prevents rocks from slipping easily, stress builds up until it is finally released with a sudden
jerk. The point on a fault at which the first movement occurs during an earth-quake is called
the epicenter.

Earthquakes have always seemed mysterious, sudden, and violent, coming without warning
and leaving ruined cities and dislocated landscapes in their wake. Cities such as Kobe, Japan
or Mexico City. parts of which are built on soft landfill or poorly consolidated soil. usually
suffer the greatest damage from earthquakes. Water-saturated soil can liquify when shaken.
Buildings sometimes sink out of sight or fall down like a row of dominoes under these
conditions.

SubQuestion No : 50

Q.50 Parts of which of these are built on soft landfill or poorly consolidated soil?

1. Kobe Japan and Mexico city
2. Indonesia and Pakistan
3. Pakistan

4. Indonesia
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496236
Option 11D : 37674924293
Option 2 ID : 37674924294
Option 3 ID : 37674924295
Option 4 ID : 37674924296

Status : Answered

Chosen Option : 1
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Q.51 g : ; ; :
Who among the following received the Arjun Award 2023 in Table Tennis?
1. Ms R Vaishali
2. Ms Avhika Mukherjee
3. Ms Nasreen
4. Ms Divyakriti Singh
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496260
Option 11D : 37674924389
Option 2 ID : 37674924390
Option 3 ID : 37674924391
Option 4 ID : 37674924392
Status : Answered
Chosen Option: 1
Q.52 : ; ; ;
Which class of lever is associated with most of the body movements?
1. First Class Lever
2. Second Class Lever
3. Combination of 1 & 2
4. Third Class Lever
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496276
Option 11D : 37674924453
Option 2 ID : 37674924454
Option 3 ID : 37674924455
Option 4 ID : 37674924456
Status : Answered
Chosen Option: 4
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Q.53

Sleep walking is also known as

Options 1. 1

2.2
3.3
4.4

1. Sleep apnea
2. Schizophrenia
3. Somnambulism

4. Insomnia

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496267
37674924417
37674924418
37674924419
37674924420
Answered

4
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Q.54

The test for evaluation of Endurance are

A. Astrand Treadmill Test

B. Conconi Test

C. Cunningham and Faulker Test
D. Cannadian Crunch Test

E. Multistage Fitness Test

Choose the eorrect answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A, B, C, D Only
2. A, B, C, E Only
3. B, D, E Only

4.B.C.D.E Only

Option 2 ID

Option 4 ID

Question Type :
Question ID :
Option 11D :

: 37674924562

Option 31D :

: 37674924564

Status:

Chosen Option :

McQ
3767496303
37674924561

37674924563

Answered
1
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Q.55
Match the LIST-I with LIST-II
LIST-I LIST-II
| Blissiseusas L Incomplete breakdown
of glycogen
B.| Glycopeness L Breakdown of glvcogen
to glucose
: Manufacturing of
C.| Glycogenolysis III. clvenr homyicos
Manufacturing of
D.|Glycolysis IV. | carbohydrate from non
carbohydrate source
Choose the correct answer from the options given below:
1. A-I B-1I, C-IV, D-III
2. A-TV, B-III, C-II, D-I
3. A-III, B-1V, C-1I, D-I
4. A-L. B-II, C-III, D-IV
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status
Chosen Option :

. Answered

MCQ
3767496318
37674924621
37674924622
37674924623
37674924624

1
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Q.56

Match the LIST-T with LIST-II

LIST-1I LIST-II
VO Fractional Concentration

A. 2 Lot O, in inspired gas
Mean capillary O-

B.|Fio, 1L A2
pressure

C. FEOZ IIL. | Alveolar O, pressure
O, Consumption per

D.|Pao, v.| 2 PHoRp
minute

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IV, B-1, C-II, D-III
2. A-L, B-II, C-III, D-IV
3. A-1l, B-1V, C-I, D-III

4. A-IV, B-1I. C-IIL. D-I

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3767496323
37674924641
37674924642
37674924643
37674924644
Answered

1
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0'57 . . '
Arrange in ascending order of there establishment
A. Christian College of Physical Education. Lucknow
B. HVPM, Amrawati
C. YMCA. Madras
D. LCPE, Gwalior
Choose the correct answer from the options given below:
. ADEC B
2.B.C.A.D
3.6€.58B.1D
4.D.C.A.B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496286
Option 11D : 37674924493
Option 2 ID : 37674924494
Option 3 ID : 37674924495
Option 4 ID : 37674924496
Status : Answered
Chosen Option : 2
0.58 . N "
Oxford method is associated with
1. High resistance method
2. Circuit training
3. Progressive - Regressive
4. Decreasing Resistance - Constant repetitions
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496263
Option 1 ID : 37674924401
Option 2 ID : 37674924402
Option 3 ID : 37674924403
Option 4 ID : 37674924404
Status : Answered
Chosen Option : 4
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Q.59
Match the LIST-I with LIST-II
LIST-I LIST-II
Vaccine Adverse Effect
Al Measles L Sudden infant death
syndrome
B.|Diphtheria II. | Diabetes
. ey e III. | Multiple Sclerosis
Type - B
D.|Hepatitis - B IV. [ Autism
Choose the correct answer from the options given below:
1. A-I. B-1II, C-I1, D-IV
2. A-IV, B-1, C-1I. D-III
3. A-IILL B-II. C-I, D-IV
4. A-II, B-III, C-1V, D-I
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3767496312
37674924597
37674924598
37674924599
37674924600
Answered

2
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Which among the options is not the elements of cognition
1. Perception
2. Attention
3. Concentration
4. Emotion
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496257
Option 11D : 37674924377
Option 2 ID : 37674924378
Option 3 ID : 37674924379
Option 4 ID : 37674924380
Status : Answered
Chosen Option : 4
Q.61 ‘ . _
Which among the following falls under the Laws of Heredity:-
1. Law of Regression
2. Law of Continuity
3. Law of Progression
4. Law of Readiness
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496255
Option 11D : 37674924369
Option 2 ID : 37674924370
Option 3 ID : 37674924371
Option 4 ID : 37674924372
Status : Answered
Chosen Option: 1
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Q.62 : T ,
What is the validity coefficient of Johnson Basket ball test?
l..78
2,35
3..87
4. 88
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496247
Option 11D : 37674924337
Option 2 ID : 37674924338
Option 3 1D : 37674924339
Option 4 ID : 37674924340
Status : Answered
Chosen Option : 2
Q.63

Several Problems adversly affect repeated-measures designs. including the following:

A. Carryover effects

B. Interpersonal effects
C. Fatigue

D. Sensitization

E. Factorial Effects

Choose the correct answer from the options given below:
1. A. B, COnly
2.B, D, E Only
3.A, C, D Only
4. B, C, D Oanly

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496306
Option 1 ID : 37674924573
Option 2 ID : 37674924574
Option 3 ID : 37674924575
Option 4 ID : 37674924576

Status : Answered

Chosen Option : 2
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Q.64 : : : 3 s TR
The major diagnose which should not be done at the time of medical examination is -
1. Present Health Status
2. Prolonged Illness Record
3. Environmental Record
4, Family Health Status
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496249
Option 1 ID : 37674924345
Option 2 ID : 37674924346
Option 3 ID : 37674924347
Option 4 ID : 37674924348
Status : Answered
Chosen Option : 2
Q.65 _ .
Sequence adopted during the opening ceremony.
A. Tribune of honor to president of games
B. The Olympic oath.
C. March past of the Athletes
D. Arrival of the president of the games
E. Declaration as opening games by the president
Choose the ecorrect answer from the options given below:
1. D, A, BRSPS
2.D.Co. B, B
3. DA C.EB
4. D.C.E.B.A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496285
Option 11D : 37674924489
Option 2 ID : 37674924490
Option 3 ID : 37674924491
Option 4 ID : 37674924492
Status : Answered
Chosen Option : 2
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Q.66
Which muscles are NOT primary flexor of knee
A. Gastrocnemius
B. Plantaris
C. Vastus Medialis
D. Rectus Femoris
E. Vastus Lateralis
Choose the eorrect answer from the options given below:
1. A, C,D Only
2. A, D, E Only
3. Aand B Only
4. C,D, E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496304
Option 1 ID : 37674924565
Option 2 ID : 37674924566
Option 3 ID : 37674924567
Option 4 ID : 37674924568
Status : Answered
Chosen Option: 3
Q.67 Which was the first Indian University to recognize physical education as an degree course:
1. Vikram University
2. Jiwaji University
3. Dr. Hari Singh Gour University
4, Devi Ahilya University
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496245
Option 11D : 37674924329
Option 2 ID : 37674924330
Option 3 ID : 37674924331
Option 4 ID : 37674924332
Status : Answered
Chosen Option: 1
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Q.68
Match the LIST-T with LIST-II
LIST-1 LIST-II
Terminology Meaning
: Properties of value
G 5 owned by an individual
The recording
B.| Assets II. | interpreting of financial
data.
Debt owned to others
C.|Book Value III. =i The egmty qf
creditors in business
firm
The Value of an assets -
D.|Liability IV. | appears on the balance
sheet
Choose the correct answer from the options given below:
1. A-III. B-II. C-1, D-IV
2. A-II, B-1, C-IV, D-III
3. A-I. B-1I. C-1II, D-IV
4. A-IV, B-I11, C-II, D-I
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3767496316
37674924613
37674924614
37674924615
37674924616
Answered

2
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Q.69 2 e
Identify the correct sequential order of steps for the process of staffing
A. Placement of manpower's
B. Assessing manpower requirements
C. Recruitment selection and training
D. Determination of employs remuneration
E. Development promotion, transfer and appraisal
Choose the correct answer from the options given below:
1.AC,B.E.D
2.B.C.AED
3.B,A.D.E.C
4. D,AB,C.E
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496289
Option 1 ID : 37674924505
Option 2 ID : 37674924506
Option 3 ID : 37674924507
Option 4 ID : 37674924508
Status : Answered
Chosen Option : 2
Q.70 "Physical education is an education of and through human movement where many of the
educational objectives are achieved by means of big muscle activities invoving sports games,
gymnastics dance and exercise" is defined by -
1.J. B. Nash
2. Harold M Barrow
3. Charles A Bucher
4. ]. P. Thomas
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496239
Option 11D : 37674924305
Option 2 ID : 37674924306
Option 3 ID : 37674924307
Option 4 ID : 37674924308
Status : Answered
Chosen Option : 1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

2 l.l 7 GET IT ON
Google Play
Q.71 - : ;
Name the energy utilized to change the state of motion or shape of an object?
1. Kinetic Energy
2. Potential Energy
3. Static Energy
4. Force
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496275
Option 11D : 37674924449
Option 2 ID : 37674924450
Option 3 ID : 37674924451
Option 4 ID : 37674924452
Status : Answered
Chosen Option: 4
Q.72 )
Carbohydrate Loading leads to
A. Increase muscle glycogen by 25gm/kg of muscle weight
B. One gram of muscle glycogen is stored with 3-4 gm of water
C. One gram of muscle glycogen is stored with 8-9 gm of water
D. A total of 1-2 Kg extra water stored in body
Choose the correct answer from the options given below:
1. A, C, D Only
2.B. C.D Only
3. A B.DOnly
4. A, B, C Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496297
Option 11D : 37674924537
Option 2 ID : 37674924538
Option 3 ID : 37674924539
Option 4 ID : 37674924540
Status : Answered
Chosen Option: 3
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Q.73

Identify the correct sequential order of a typical fatigue cause

A. Warming up period

B. Initial Spurt

C. Familiarization and practice

D. End spurt
E. Fatigue

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1.4 B L CE
2. B 80 BB
3.B, A C,D.E

4.B,C,A D,E

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496278
37674924461
37674924462
37674924463
37674924464
Answered

3
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Q.74

Match the LIST-T with LIST-II

LIST-I LIST-II
A.|Time Table L - O of.sm.d At
by an institution
A documents including
B.|Syllabus II. il the. lepmng g
experience provide to
the students
C.|Curriculum III. | Out Lines of contents
A document showing
D.|Professional Ethics IV. | what to be done by who

and at what time.

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IV, B-1III, C-1, D-II
2. A-IV, B-1I, C-I, D-III
3. A-IILL B-1IV, C-II. D-I

4. A-III. B-1, C-1V. D-II

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3767496326
37674924653
37674924654
37674924655
37674924656
Answered

2
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Q.75

Match the LIST-I with LIST-II

LIST-I LIST-II
Theories Proposed By
A.|Close-Loop theory I. |Lincon Guba
B.|Schema theory II. | Adams
C.| Grounded theory II.|R. A. Schmidt
D.|Concept of credibility IV. | Glaser & Strauss

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-II. C-1IV, D-III
2. A-IIL B-1, C-11, D-IV
3. A-IL B-1IL, C-IV. D-I

4. A-1, B-11I, C-1I, D-IV

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3767496310
37674924589
37674924590
37674924591
37674924592
Answered

4
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Q.76
What are the areas of maintenance management
A. Safety
B. Cleanliness
C. Quality
D. Finance
E. Amenities
Choose the eorrect answer from the options given below:
1. A, B, C,D Only
2. A, B, D Oanly
3.A.B,C,E Ounly
4. A, C.D. E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496302
Option 1 ID : 37674924557
Option 2 ID : 37674924558
Option 3 ID : 37674924559
Option 4 ID : 37674924560
Status : Answered
Chosen Option: 3
Q.77 55 . L : ;
“The application of the principles of Physical and Behavioral Science to make the
educational process more effective” is defined by -
1. Prof. S. S. Krishan
2. Urwin
3. Ludwig
4. Nixon
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496248
Option 11D : 37674924341
Option 2 ID : 37674924342
Option 3 ID : 37674924343
Option 4 ID : 37674924344
Status : Answered
Chosen Option : 1
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Q.78 2 : SR : : :
Find out the correct sequential order of stages for clinical manifestation of lymphatic
filariasis:
A. Stages of chronic obstructive lesions
B. Asymptomatic microfilaremia
C. Stage of acute manifestations
D. Asymptomatic microfilaremia
Choose the correct answer from the options given below:
LA BIC D
2. B.E. BiA
3.C,D.A.B
4.D,B,A.C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496283
Option 1 ID : 37674924481
Option 2 ID : 37674924482
Option 3 ID : 37674924483
Option 4 ID : 37674924484
Status : Answered
Chosen Option: 3
Q.79 : E : :
Who was the first president of International Olympic Committee
1. Baren De Coubertin
2. Dimitrias Vikelas
3. Henry Brundale
4. Comte De Boillet
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496238
Option 11D : 37674924301
Option 2 ID : 37674924302
Option 3 ID : 37674924303
Option 4 ID : 37674924304
Status : Answered
Chosen Option: 1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

2 q 7 GET IT ON
Google Play
Q'80 v - -
In which term the health of population is measured?
1. Applied Statistics
2. Vital Statistics
3. Descriptive Statistics
4. Inferential Statistics
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496268
Option 1 ID : 37674924421
Option 2 ID : 37674924422
Option 31D : 37674924423
Option 4 ID : 37674924424
Status : Answered
Chosen Option : 1
Q.81 s : B :
Which is a metabolic product of glycolysis during exercise?
1. Glucose
2. Glycogen
3. Phosphate
4. Lactate
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496270
Option 1 ID : 37674924429
Option 2 ID : 37674924430
Option 3 ID : 37674924431
Option 4 ID : 37674924432
Status : Answered
Chosen Option: 1
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Q.82 3 ; ; A i3
List the correct sequential order of Motivated activity for motivation.
A. Goal
B. Need
C. Sore Activity
D. Satisfaction
E. Drive
Choose the correct answer from the options given below:
LA B G ED
2.8, A, D.FE
3.C,B,;D. A E
4.B.E.C,A.D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496281
Option 11D : 37674924473
Option 2 ID : 37674924474
Option 3 ID : 37674924475
Option 4 ID : 37674924476
Status : Answered
Chosen Option: 1
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Q.83

Match the LIST-I with LIST-II

LIST-I LIST-II
Asian Games Year
A.|New Delhi I |1962
B.| Tehran IL. [ 1951
C.|Jakarta II1.] 1994
D.|Hiroshima IV.|1974

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-II, B-1V, C-I, D-III

2. A-II, B-1V, C-III. D-I

3. A-IV. B-1. C-II, D-III

4. A-IIL B-1V, C-1I, D-I

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

1

Chosen Option

MCQ
3767496327
37674924657
37674924658
37674924659
37674924660
Answered
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Q.84 Find the correct sequential order of inductive reasoning according to R. L. Hoenes 1975.
A, Hypothesis
B. Theory
C. Observation
D. General Explanation
E. Tie hypotheses together
Choose the eorrect answer from the options given below:
LA EB,CD
A
3.C,E,A,D,B
4 A C.D.BE
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ

: 3767496282

37674924477

1 37674924478

37674924479
37674924480
Answered

4
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Q.85

Match the LIST-I with LIST-II

LIST-I

LIST-II

A_|Heat Stroke

Water & salt depletion

General weakness and

B.|Heat Exhaustion II. :
hypotension
C.|Heat Syncope III. | Muscle spasms
. | Pt G v Temperature may rise to

105°F

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I. B-III, C-1IV, D-II
2. A-IV. B-1, C-II, D-III
3. A-III, B-II, C-1IV, D-1

4. A-II. B-IV, C-I, D-II

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496325
37674924649
37674924650
37674924651
37674924652
Answered

2
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Q.86

Which of the following are considered as threats to external validity?

According to Campbell and Stanley(1963).

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

A. Interactive effects of testing

B. Statistical regression

C. Interaction of selection bias and experimental treatment
D. Instrumentation process

E. Reactive effects of experimental arrangement

1. A, C.D Only
2. A, C,E Only
3.A.B.D Only

4. A, D, E Only

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3767496307
37674924577
37674924578
37674924579
37674924580
Answered

2
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Q.87 . > : . ;
Mention correct type of class formation during teaching practice.

A. Spoke Formation
B. Rank Formation
C. Rope Formation
D. File Formation
E. Tree Formation

Choose the correct answer from the options given below:

1. A, B, D Only
2. A, D, E Only

3.B,D,C Only

4. E, D, C Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496305
Option 11D : 37674924569
Option 2 ID : 37674924570
Option 3 ID : 37674924571
Option 4 ID : 37674924572
Status : Answered
Chosen Option: 3
Q.88 Which law states that “The greater the initial length of the cardiac muscle fiber, the stronger
the myocardium contraction™.
1. Boyles Law of the heart
2. Pavlov law of the heart
3. Starling's law of the heart
4. Mendel's Law of the heart
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496273
Option 1 ID : 37674924441
Option 2 ID : 37674924442
Option 3 ID : 37674924443
Option 4 ID : 37674924444
Status : Answered
Chosen Option : 2
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Q.89 ; i . 5,
A rejection of null hypothesis when the null hypothesis is true, called as :-
1. Type II error
2. Type I error
3. level of significance
4. standard error
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496251
Option 11D : 37674924353
Option 2 ID : 37674924354
Option 3 ID : 37674924355
Option 4 ID : 37674924356
Status : Answered
Chosen Option : 2
Q.90 o z : T :
The ability to increase maximal oxygen consumption is limited due to which factor?
1. Genetical
2. Environmental
3. Training
4. Overload
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496242
Option 1 ID : 37674924317
Option 2 ID : 37674924318
Option 31D : 37674924319
Option 4 ID : 37674924320
Status : Answered
Chosen Option : 2
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0'91 N w .
The magnitude of type II error is determined by
1. Beta
2. Alpha
3. Gama
4. Theta
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496250
Option 11D : 37674924349
Option 2 ID : 37674924350
Option 3 ID : 37674924351
Option 4 ID : 37674924352
Status : Answered
Chosen Option : 1
Q.92 s - . -
“Teaching is a system of action intended to induce learning” is defined by -
1.B. O. Smith
2. Clarke
3. Israel Sheffler
4. Yoakum and Simpson
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496244
Option 1 ID : 37674924325
Option 2 ID : 37674924326
Option 3 ID : 37674924327
Option 4 ID : 37674924328
Status : Answered
Chosen Option : 1
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Q.93 : : ;
In the year 1971, Adams proposed a theory of motor skill learning is known as:-
1. Schema Theory
2. Closed-Loop Theory
3. Avis effected theory
4. Placebo Theory
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496254
Option 1 ID : 37674924365
Option 2 ID : 37674924366
Option 31D : 37674924367
Option 4 ID : 37674924368
Status : Answered
Chosen Option : 2
Q.94 ) .
The main factors which affects growth and development
A. Genetic Factor
B. Spiritual Factor
C. Environmental Factor
D. Nutritional Factor
E. Movement Factor
Choose the eorrect answer from the options given below:
1.E, C. AOnly
2.D,C, B Only
3.E, A, D Ounly
4. A. C, D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496299
Option 1 ID : 37674924545
Option 2 ID : 37674924546
Option 3 ID : 37674924547
Option 4 ID : 37674924548
Status : Answered
Chosen Option : 4
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Q.95
Arrange the following in ascending order of their existence
A. Epic Period
B. British Period
C. Buddhist Period
D. Vedic Period
E. Rajput Period
Choose the correct answer from the options given below:
1.D.BACE
S DECAB
3D CE BA
4. D,A,C.E.B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496287
Option 11D : 37674924497
Option 2 ID : 37674924498
Option 3 ID : 37674924499
Option 4 ID : 37674924500
Status : Answered
Chosen Option : 3
Q.96 ; ; ; A ; :
Who introduced Liberal attitude regarding education and sports in Germany?
1. John Basedow
2. Niels Buck
3. Adolph John
4. Ronald Joseph
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496240
Option 11D : 37674924309
Option 2 ID : 37674924310
Option 3 ID : 37674924311
Option 4 ID : 37674924312
Status : Answered
Chosen Option : 1
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Q.97

Choose the parametric sampling methods among the following

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

A. Quasi Random Sampling

B. Bayesian Sampling (MCMC)
C. Multistage Sampling

D. Bootstrap Sampling

E. Cluster Sampling

1.A,B,D,E Only
2.A.B, C,E Only
3.B,C,D,E Only

4.A.C,D,E Only

Question Type :
: 3767496298
Option 11D :

Question ID

Option 2 ID

Option 4 ID

: 37674924542
Option 31D :
1 37674924544

Status :
Chosen Option :

McCQ

37674924541

37674924543

Answered
1
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Q.98

Match the LIST-I with LIST-II

LIST-I LIST-II
White Blood Cell Type Life Spam
A.|Neutrophil I. |Days to Years
B.|Eosinophil II. |Hours to 3 days
C.|Monocyte III.| 8 to 12 days
D.|B-Lymphocyte IV. | Days to months

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-II, B-IIL. C-IV. D-1
2. A-1, B-1I, C-III, D-IV
3. A-IILL B-1IV, C-II. D-I

4. A-1IV, B-1, C-III, D-II

Question Type :
Question ID :

Option 1 ID

Option 3 ID

Status

Chosen Option :

: 37674924601
Option 21D :
: 37674924603
Option 41D :
: Answered

MCQ
3767496313

37674924602

37674924604

4
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Q.99

Match the LIST-T with LIST-II

LIST-I

LIST-II

A |Ischemia

Irregularity in force and
rhythm of Heart

An excitatory

B.|Fibrillation II. ;
neurotransmitter
local and temporary

C.|Hemolysis III. | deficiency of blood and
oxygen

D.| Serotonin IV. [ The rupture of cell

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-I, B-III, C-1V, D-II
2. A-IL, B-1IV, C-III, D-I
3. A-IIIL B-1, C-1IV, D-II

4. A-1IV, B-1II, C-II, D-I

Question Type

Option 1 ID

: MCQ
Question ID :
: 37674924645
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

3767496324

37674924646
37674924647
37674924648
Answered

2
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Q.100

Options 1. 1
2.2
3.3
4.4

Which is not a type of curriculum development models -

1. Subject Centered Design
2. Evaluation Centered Design
3. Learner Centered Design

4. Problem Centered Design

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3767496243
37674924321
37674924322
37674924323
37674924324
Answered

2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

UGEC NET 2024

250+ Mock Tests
90+ Previous Year Papers
Unlimited Re-Attempt

4

UNLOCK WITH TEST PRIME

<+

ALSO GETACCESSTO
STATE SETs,
FACULTY RECRUITMENT,
JRF RECRUITMENT EXAMS


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076

Adda247

Q.101
Who is the Learning Disable Children?
A. Generally slow
B. Specifically slow
C. High Intelligent Quotient
D. Mentally Retarded
E. Socially Well - Adjusted
Choose the eorrect answer from the options given below:
1. B, C.D Only
2. A, B, E Only
3.C,D, E Only
4. A. C, D Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496295
Option 11D : 37674924529
Option 2 ID : 37674924530
Option 3 ID : 37674924531
Option 4 ID : 37674924532
Status : Answered
Chosen Option : 1
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Q.102

Match the LIST-I with LIST-II

LIST-I LIST-II
Auto Immune Disease Tissue Effected
A.|Hashimoto's Disease I. |Joints
B.| Chronic Hepatitis II. | Connective Tissue
C.|Scleroderma III. | Thyroid
D.|Rheumatoid arthritis IV.|Liver

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-IV, B-III, C-II. D-I
2. A-1, B-1I, C-III, D-IV
3. A-IIIL B-1IV, C-II. D-I

4. A1l B-1IL, C-1, D-IV

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3767496314
37674924605
37674924606
37674924607
37674924608
Answered

3
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Q.103
Which Vitamins are classed as antioxidants?

A Vitamin A
B. Vitamin D
C. Vitamin E
D. Vitamin K
E. Vitamin C

1. A, B, C Only
2. B, €, D Only
3. B, D, E Only

4. A, C, E Only

Options 1. 1
2.2
3.3
4.4

Choose the eorrect answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496294
37674924525
37674924526
37674924527
37674924528
Answered

4
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Q.104

Match the LIST-T with LIST-II

LIST-I

LIST-II

A |Iso-Kinetic Method

Intensity more than
100%

Effective for the

Method

B.| Fartlek Method II. | improvement of speed
endurance

C.|Repetition Method III. Me.thod‘ eft"ectnir_e o
swimming, rowing

D. Dynamic Eccentric v Training is not pre-

planned

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-III, B-1V, C-1I. D-I
2. A-IV. B-1, C-II, D-III
3. A-L, B-1I, C-I1I, D-IV

4. A-IL. B-1, C-IV, D-III

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

Chosen Option :

: Answered

MCQ
3767496317
37674924617
37674924618
37674924619
37674924620

1
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Q.105

Options 1. 1
2.2
3.3
4.4

L. First phase
2. Second phase
3. Third phase

4. Forth phase

Stress on kinesthetic perception should be given in which phase of technique training?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
3767496262
37674924397
37674924398
37674924399
37674924400
Answered

2
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Q.106
Match the LIST-I with LIST-II
LIST-I LIST-II
p Ve R e 5 x80%, 4x85%, 3
| T SRS Y, (%000, 2059, 1
% 100%
5 x80%, 3 x90%, 1
B.|Progressive Procedure | II. | <100%, 3 x90%, 5
=80%
A : 20 =50% 50%,
C.|High Resistance Method | III. i ,0/0’ A2
x50%
2 x95%, 2x95%,
D.|Low Resistance Method [IV.|2x95%,
2 x95%
Choose the correct answer from the options given below:
1. A-I. B-II, C-IV, D-III
2. A-IV, B-11, C-III, D-I
3. A-II, B-1, C-IV, D-III
4. A-III. B-II. C-IV. D-1
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3767496321
37674924633
37674924634
37674924635
37674924636
Answered

2
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Q.107

Options 1. 1
2.2
3.3
4.4

Sequence of technique training in 31d phase

A. Practice under difficult and different condition.
B. Increased participation in competition.

C. Ideo-motor training.

D. Accurate and precise feedback.

E. Development of movement concept.

Choose the eorrect answer from the options given below:

1.ELAB.C.D
28, CEDB
3 C.BIOLEA

4 A E.D.B.C

Question ID

Option 2 ID

Option 4 ID

Question Type :
: 3767496279
Option 11D :
: 37674924466
Option 31D :
: 37674924468

Status:
Chosen Option :

McCQ

37674924465

37674924467

Answered
1
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Q.108 o
Heterochronicity of recovery means
1. Faster pace of recovery of limbs
2. Different pace of recovery for different organs
3. slower pace - of recovery of body parts and organs
4. Relentless pace of recovery of organs
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496265
Option 11D : 37674924409
Option 2 ID : 37674924410
Option 3 ID : 37674924411
Option 4 ID : 37674924412
Status : Answered
Chosen Option : 2
Q.109 : : F ;
Choose the correct sequential orders for the basics of scientific management
A. Select the worker and train them
B. Distribute the gains between employers and employees
C. Study the work scientifically
D. Match Job and workers properly
Choose the correct answer from the options given below:
1.C,A,D,B
2.A.C,B,D
3ABCD
4.D.C.B.A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496284
Option 11D : 37674924485
Option 2 ID : 37674924486
Option 3 ID : 37674924487
Option 4 ID : 37674924488
Status : Answered
Chosen Option: 3
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Q.110

Options 1. 1
2.2
3.3
4.4

Match the LIST-I with LIST-II

LIST-I LIST-II
A.|Thirty or more I. |Range
B.|Discrete II. | Scale
C.|Interval measurement III. | Large Group
D.|Dispersion IV.| Type of Data

1. A-L, B-1I, C-IIL, D-IV
2. A-I, B-1II, C-1V, D-II
3. A-IIIL B-1IV, C-I, D-II

4. A-IIT. B-IV, C-II. D-I

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496309
37674924585
37674924586
37674924587
37674924588
Answered

4
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Q.111 : . : .
Arrange the following Joints according to order of greater range of motion
A. Neck Joint
B. Shoulder Joint
C. Elbow Joint
D. Skull Joint
Choose the eorrect answer from the options given below:
1.C,B. DA
2.B.C.A D
3.C,A.B,D
4.B,A.C,D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496288
Option 1 ID : 37674924501
Option 2 ID : 37674924502
Option 3 ID : 37674924503
Option 4 ID : 37674924504
Status : Answered
Chosen Option: 4
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Q.112
Which among the following are phytochemicals?

A. Anthocyanidins
B. Capsaicin

C. Calcipherol

D. Flavanones

E. Phylloquinone

1. A, C,D Only
2. B, €, D Only
3. A, B, D Only

4. C, D, E Only

Options 1. 1
2.2
3.3
4.4

Choose the eorrect answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496291
37674924513
37674924514
37674924515
37674924516
Answered

1
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Q.113
Which is considered as a speech disorder?

1. Semantic Transformation
2. Form Perception
3. Articulation problems

4. Visual closure
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496258
37674924381
37674924382
37674924383
37674924384
Answered

3
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Q.114

Options 1. 1
2.2
3.3
4.4

What are the types of Attention?

A. Enforced

B. Awareness

C. Concentration
D. Voluntary

E. Habitual

1. A, D, E Only
2. B, C Only
3. A, B,D, E Only

4.B.C.D.E Only

Choose the eorrect answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496296
37674924533
37674924534
37674924535
37674924536
Answered

1
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Q.115
What are the statistical software for data analysis

A. Minitab
B. Python

D. Jamovi
E. G * Power

1. A, B.C,E Only
2.B,C, D, E Only
3.A,B.C,D Only

4.A,C.D,E Only

Options 1. 1
2.2
3.3
4.4

C. SPSS (Statistical Package for the Social Science)

Choose the eorrect answer from the options given below:

Question Type :
: 3767496308
Option 11D :

Question ID

Option 2 ID

Option 4 ID

: 37674924582
Option 31D :
: 37674924584

Status:
Chosen Option :

McCQ

37674924581

37674924583

Answered
4
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Q.116 : e ; : : SERR, g
Risk of injury is heightened when joint flexibility is
A Extremely low
B. Rigid
C. Extremely high
D. Significant imbalance between dominant and non dominant sides of the body
E. Medium
Choose the cerrect answer from the options given below:
1.B,C,D Only
2. A,.C,D Only
3.B,D.E Only
4. C,D, E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496292
Option 11D : 37674924517
Option 2 ID : 37674924518
Option 3 ID : 37674924519
Option 4 ID : 37674924520
Status : Answered
Chosen Option : 2
Q'1 17 w v . B v
Which city is hosting 2032 Para Olympic Games?
1. Tokyo, Japan
2. Paris, France
3. Los Angeles. United States of America
4. Brisbane, Australia
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496259
Option 1 ID : 37674924385
Option 2 ID : 37674924386
Option 3 1D : 37674924387
Option 4 ID : 37674924388
Status : Answered
Chosen Option: 4
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Q.118 . : -
What are the models of situational Leadership theory of management?
A. Fiedler's contingency model
B. Path-goal model
C. Situational Leadership model
D. Scientific leadership model
E. Full range of leadership model
Choose the correct answer from the options given below:
1. A, B, C, E Only
2. A, C,DOnly
3. A B, C Only
4.B,C.D. E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496301
Option 1 ID : 37674924553
Option 2 ID : 37674924554
Option 3 ID : 37674924555
Option 4 ID : 37674924556
Status : Answered
Chosen Option : 1
Q.119 : ; : : AN
Which form of stress produces a serious long-lasting psychological conditions?
1. Pre - traumatic stress disorder
2. Post- traumatic stress disorder
3. Preventive - traumatic stress disorder
4. Prior - traumatic stress disorder
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496266
Option 11D : 37674924413
Option 2 ID : 37674924414
Option 3 ID : 37674924415
Option 4 ID : 37674924416
Status : Answered
Chosen Option: 4
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Q.120

Proximal attachment of muscles is between posterior and anterior gluteal lines on the
posterior ilium.

1. Gluteus Maximus
2. Rectus Femoris
3. Gluteus Medius

4. Sartorius

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496277
Option 1 ID : 37674924457
Option 2 ID : 37674924458
Option 3 ID : 37674924459
Option 4 ID : 37674924460

Status : Answered

Chosen Option : 2

Q.121
Sequence of Recovery is

A. Anabolic in nature

B. Re - synthesis of ATP and glycogen
C. Neutralization of Lactic Acid

D. Restoration of Homeostasis

Choose the eorrect answer from the options given below:
1.A.B, C B
2.B,C,D,A
3.6,DAB

4 D.AB.C

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496280
Option 1 ID : 37674924469
Option 2 ID : 37674924470
Option 3 ID : 37674924471
Option 4 ID : 37674924472

Status : Answered

Chosen Option: 3
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Q.122 i gE g 4 S {
As an when individual gets older there is decline in the following components
A. Muscle Size
B. Percent Body fat
C. Muscular Strength
D. Blood pressure
E. Lean Body Weight
Choose the correct answer from the options given below:
1. A, B, C Only
2.B,C.E Only
3.A,C,E Only
4. A.B. E Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496293
Option 11D : 37674924521
Option 2 ID : 37674924522
Option 3 ID : 37674924523
Option 4 ID : 37674924524
Status : Answered
Chosen Option : 3
Q123 ‘Which nerve plays most important role in the automatic adjustment of the heart during body
movement?
1. Trigeminal nerve
2. Vestibular nerve
3. Facial nerve
4. Spinal nerve
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496274
Option 11D : 37674924445
Option 2 ID : 37674924446
Option 3 ID : 37674924447
Option 4 ID : 37674924448
Status : Answered
Chosen Option : 2
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Q.124

Options 1. 1
2.2
3.3
4.4

Hypertrophy of muscles involves more:-

A. Myofibrils

B. Actin and myosin filaments
C. Sarcoplasm

D. Tendon

E. Lipids

Choose the eorrect answer from the options given below:

1. A, B, E Only
2. A B, C Only
3. A, B, D Only

4. A, C, E Only

Question ID

Option 2 ID

Option 4 ID

Question Type :
: 3767496290
Option 11D :
: 37674924510
Option 31D :
1 37674924512

Status:
Chosen Option :

McQ

37674924509

37674924511

Answered
2
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Q.125 .
Match the LIST-I with LIST-II
LIST-I LIST-II
A.|"German Gymnastics™ | I. |Per Hanrik Ling
B.|“Primitive Gymnastics™ | II. | Guts Muths
C.|*Swedish Gymnastics™ |III.| Archibald Maclaren
*A system of physical
D.|education-Theoretical IV.|Niels Bukh
and practical™
Choose the correct answer from the options given below:
1. A-II. B-1, C-IV. D-III
2. A-II. B-IIL. C-1, D-IV
3. A-II, B-IV, C-III. D-I
4. A-IL. B-1V, C-I, D-III
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496322
Option 11D : 37674924637
Option 2 ID : 37674924638
Option 3 ID : 37674924639
Option 4 ID : 37674924640
Status : Answered
Chosen Option : 2
Q126 Which method is mostly used in survey research to collect opinions on specific topic to gain
consensus -
1. Delphi Method
2. Cross Sectional Method
3. Interview Method
4. Trend Study Method
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496252
Option 1 ID : 37674924357
Option 2 ID : 37674924358
Option 3 ID : 37674924359
Option 4 ID : 37674924360
Status : Answered
Chosen Option: 3
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1. A-IV. B-III, C-II. D-I
2. A-IIL. B-IV, C-II, D-I
3. A-I, B-1I, C-III, D-IV

4. A-II, B-IV. C-I1, D-III

Options 1. 1
2.2
3.3
4.4

Q.127 .
Match the LIST-I with LIST-II
LIST-I LIST-II
A.|Body mass index I. |Height (cm) minus 100
: Weight(ky)
B.|Ponderal index II. HeighZ (m)
C.|Broca index TI1. | Heighttcm) -100 - Z_L__._{EL:‘:‘f;:‘M‘,\E{“w
; Height {cm})
D.|Lorentz's formula IV. | Gabe root of body Weight(kg)
Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
3767496311
37674924593
37674924594
37674924595
37674924596
Answered

4
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Q.128 , . ; :
The part of experiment that the researcher is manipulated is called:-
1. Dependent Variable
2. Third Variable
3. Treatment Variable
4. Extraneous Variable
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496253
Option 1 ID : 37674924361
Option 2 ID : 37674924362
Option 31D : 37674924363
Option 4 ID : 37674924364
Status : Answered
Chosen Option : 2
Q.129 o )
Critical speed does not include
1. Anaerobic threshold
2. 90-100% of VO, max
3. 75-80% GfV02 max
4. Heart rate 1s between 175-180 beats
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496264
Option 11D : 37674924405
Option 2 ID : 37674924406
Option 3 ID : 37674924407
Option 4 ID : 37674924408
Status : Answered
Chosen Option : 2
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Q.130 ) o
The Sterno-Clavicular Joint is also known as
1. Hing Joint
2. condyloid Joint
3. Gliding Joint
4. Pivot Joint
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496261
Option 11D : 37674924393
Option 2 ID : 37674924394
Option 31D : 37674924395
Option 4 ID : 37674924396
Status : Answered
Chosen Option : 4
Q.131 i i ; s :
Which animal was sacrificed before commencement of Ancient Olympic games.
1. Lamb
2. Bufflow
3. Horse
4. Pig
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496241
Option 11D : 37674924313
Option 2 ID : 37674924314
Option 3 ID : 37674924315
Option 4 ID : 37674924316
Status : Answered
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Q.132

Match the LIST-I with LIST-II

LIST-I LIST-II
Cronbach alpha g
A coefficient I. |Internal Validity
B.|Halo effect II. |Reliability
C.]Ancova III. | Criterion Validity
D.|Concurrent Validity IV. [ Distractor Variable

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-L, B-III, C-1V, D-1I
2. A-IL, B-1. C-IV, D-III
3. A-IL. B-IIL. C-L, D-IV

4. A-L, B-1I, C-I1I, D-IV

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496320
37674924629
37674924630
37674924631
37674924632
Answered

2
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Q.133

Match the LIST-I with LIST-II

LIST-I LIST-II
A.|Surplus Energy Theory | I. |G. Stanley Hall
B.|Recapitulatory Theory | II. | Carl Groos
C.|Cathartic Theory III. | Van Schiller and Herbert
D.| Anticipatory Theory IV.| Aristotle

Choose the correct answer from the options given below:

Options 1. 1

2.2
3.3
4.4

1. A-III. B-IV, C-1I. D-I
2. A-III, B-1, C-1V, D-II
3. A-IIIL. B-IL. C-I, D-IV

4. A-IIL, B-L, C-II, D-IV

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

MCQ
3767496319
37674924625
37674924626
37674924627
37674924628
Answered

4
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Q.134 .
Match the LIST-I with LIST-II
LIST-I LIST-II
A.|Phlegmatic I. |Unstable Introvert
B.|Sanguine II. [ Unstable Extrovert
C.|Melancholic III. | Stable Introvert
D.|Choleric IV. | Stable Extrovert
Choose the correct answer from the options given below:
1. A-IV, B-1. C-II. D-III
2. A-IL, B-III, C-IV, D-I
3. A-L. B-II, C-III, D-IV
4. A-III. B-IV, C-1. D-II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496315
Option 11D : 37674924609
Option 2 ID : 37674924610
Option 3 ID : 37674924611
Option 4 ID : 37674924612
Status : Answered
Chosen Option : 2
Q.135 : : ; : : ; :
During exercise up to 40 to 60 percent of maximal capacity of cardiac output in trained
athlete may increase up to
1. 100 liters
2. 40 liters
3. 10 liters
4. 15 liters
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496271
Option 11D : 37674924433
Option 2 ID : 37674924434
Option 3 ID : 37674924435
Option 4 ID : 37674924436
Status : Answered
Chosen Option: 3
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Q.136 : ; : . .
Which is considered as a type of stressful situation
1. Environmental Situation
2. Mental Situation
3. Harm-and-Loss Situation
4. Conditional Situation
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496269
Option 1 ID : 37674924425
Option 2 ID : 37674924426
Option 31D : 37674924427
Option 4 ID : 37674924428
Status : Answered
Chosen Option : 2
Q.137 o ] ]
Which is a pain control system of brain?
1. Analgesia
2. Cortex
3. Spinal Chord
4. Axon
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496272
Option 11D : 37674924437
Option 2 ID : 37674924438
Option 3 ID : 37674924439
Option 4 ID : 37674924440
Status : Answered
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Q.138 : : : s : . ;
Which of the following threat to internal validity was identified by Ronsenthal in 1966?
1. Maturation
2. Instrumentation
3. Expectancy
4. Experimental Mortality
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496246
Option 11D : 37674924333
Option 2 ID : 37674924334
Option 3 ID : 37674924335
Option 4 ID : 37674924336
Status : Answered
Chosen Option: 3
Q.139 _
Meaning of Eustress -
1. Exhilaration
2. Fear
3. Apprehension
4. Anger
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 3767496256
Option 11D : 37674924373
Option 2 ID : 37674924374
Option 3 ID : 37674924375
Option 4 ID : 37674924376
Status : Answered
Chosen Option: 3
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Q140 Which of the following categories are included in H. Mc Cloy classification index?
A. High School Boys
B. High School
C. College Men
D. College
E. Elementry School
Choose the correct answer from the options given below:
1. A. B, C Only
2.B,D, E Only
3.B,C.E Only
4. A, D. E Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D :
Option 21D :
Option 31D :
Option 4 ID
Status :
Chosen Option

McQ

: 3767496300

37674924549
37674924550
37674924551

1 37674924552

Answered

12
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Comprehension:

Extraneous variables are factors that could affect relationship between the independent and
dependent variables but are not includes.

The independent variable in the experimental or treatment variable, it is cause. The
dependent variables is measures to assess the effects of independent variables. A categorical
variable sometime called a moderator variables, for example gender or race.

An experiment was done on the effect of synchronous and asynchronous movement to music
on endure performance. One group with synchronized music, one group with not
synchronized music and one group with no music separately for men and women were taken
with same intensity of workload. It was speculated that same different in the performance of
men and women might be due to the women's reluctance to exhibit maximum effort in the
presence of male.

The decision to include or exclude some variable depends on several consideration such as
whether the variable is closely related to the theoretical model and how likely there is to be
an interaction.

SubQuestion No : 141

Q.141 , . _
In all experimental research, it should have control variable?

1. Always
2. Never
3. Sometime

4. Decision of Researcher
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496333
Option 11D : 37674924677
Option 2 ID : 37674924678
Option 31D : 37674924679
Option 4 ID : 37674924680

Status : Answered

Chosen Option : 4
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Comprehension:

Extraneous variables are factors that could affect relationship between the independent and
dependent variables but are not includes.

The independent variable in the experimental or treatment variable, it is cause. The
dependent variables is measures to assess the effects of independent variables. A categorical
variable sometime called a moderator variables, for example gender or race.

An experiment was done on the effect of synchronous and asynchronous movement to music
on endure performance. One group with synchronized music, one group with not
synchronized music and one group with no music separately for men and women were taken
with same intensity of workload. It was speculated that same different in the performance of
men and women might be due to the women's reluctance to exhibit maximum effort in the
presence of male.

The decision to include or exclude some variable depends on several consideration such as
whether the variable is closely related to the theoretical model and how likely there is to be
an interaction.

SubQuestion No : 142

Q.142 , _
The difference performance of men and women is an example of :-

1. Independent Variable
2. Dependent Variable
3. Categorical Variable

4. Extraneous Variable
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496329
Option 11D : 37674924661
Option 2 ID : 37674924662
Option 31D : 37674924663
Option 4 ID : 37674924664

Status : Answered

Chosen Option : 3
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Comprehension:

Extraneous variables are factors that could affect relationship between the independent and
dependent variables but are not includes.

The independent variable in the experimental or treatment variable, it is cause. The
dependent variables is measures to assess the effects of independent variables. A categorical
variable sometime called a moderator variables, for example gender or race.

An experiment was done on the effect of synchronous and asynchronous movement to music
on endure performance. One group with synchronized music, one group with not
synchronized music and one group with no music separately for men and women were taken
with same intensity of workload. It was speculated that same different in the performance of
men and women might be due to the women's reluctance to exhibit maximum effort in the
presence of male.

The decision to include or exclude some variable depends on several consideration such as
whether the variable is closely related to the theoretical model and how likely there is to be
an interaction.
SubQuestion No : 143
Q.143 ] ] ]
Which of variable cannot be manipulated?

1. Categorical Variable
2. Extraneous Variable
3. Independent Variable

4. Discrete Variable
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496330
Option 1 ID : 37674924665
Option 2 ID : 37674924666
Option 3 ID : 37674924667
Option 4 ID : 37674924668

Status : Answered

Chosen Option: 3
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Comprehension:

Extraneous variables are factors that could affect relationship between the independent and
dependent variables but are not includes.

The independent variable in the experimental or treatment variable, it is cause. The
dependent variables is measures to assess the effects of independent variables. A categorical
variable sometime called a moderator variables, for example gender or race.

An experiment was done on the effect of synchronous and asynchronous movement to music
on endure performance. One group with synchronized music, one group with not
synchronized music and one group with no music separately for men and women were taken
with same intensity of workload. It was speculated that same different in the performance of
men and women might be due to the women's reluctance to exhibit maximum effort in the
presence of male.

The decision to include or exclude some variable depends on several consideration such as
whether the variable is closely related to the theoretical model and how likely there is to be
an interaction.

SubQuestion No : 144

.144 ; : ; ; : ;
Q Doing exercise with background music that was not synchronized is an examples of .

1. Continuous Variable
2. Dependent Variable
3. Moderate Variable

4. Independent Variable

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496331
Option 11D : 37674924669
Option 2 ID : 37674924670
Option 3 ID : 37674924671
Option 4 ID : 37674924672

Status : Answered

Chosen Option : 1
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Comprehension:

Extraneous variables are factors that could affect relationship between the independent and
dependent variables but are not includes.

The independent variable in the experimental or treatment variable, it is cause. The
dependent variables is measures to assess the effects of independent variables. A categorical
variable sometime called a moderator variables, for example gender or race.

An experiment was done on the effect of synchronous and asynchronous movement to music
on endure performance. One group with synchronized music, one group with not
synchronized music and one group with no music separately for men and women were taken
with same intensity of workload. It was speculated that same different in the performance of
men and women might be due to the women’s reluctance to exhibit maximum effort in the
presence of male.

The decision to include or exclude some variable depends on several consideration such as
whether the variable is closely related to the theoretical model and how likely there is to be
an interaction.

SubQuestion No : 145

Q.145 Which type of variable is mainly responsible to affect the internal validity of any experiment.
1. Moderator Variable
2. Dependent Variable
3. Extraneous Variable
4. Independent Variable
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
3767496332
37674924673
37674924674
37674924675
37674924676
Answered

4
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Comprehension:

A hormone is chemical substance secreted into the body fluids by an endocrine gland and
has a specific effect on the activities of other organs (target organs). An endocrine gland is
ductless and secrets a hormone directly on to the blood or lymph’s. The actions of hormones
are target organs include: (1) Activation of enzymes systems, (2) Alterations of cell
membrane permeability, (3) Muscular contraction or relaxation, (4) Protein Synthesis, or (5)
Cellular Secretion. This actions are brought about through a mechanism referred to as the
cyclic AMP mechanism. Some hormones have an effect only on specific target organ. The
predominant hormonal control system is negative feedback mechanism. The nervous system
is also involved in the control of hormone secretion. The hormones and their endocrine
glands, include the following: 1) The Pituitary Gland: ADH. Oxytocin, GH, TSH, ACTH,
FSH., LH and prolactin, 2) The Adrenal Glands: The catecholamine, epinephrine and non-
epinephrine, mineralocorticoids, glucocorticoids and endogens, 3) Pancreas: Insulin and
Glycogen 4) The thyroid Gland: Thyroxin, triiodothyronine and calcitonin, 5) The Para-
Thyroid gland: PTH. 6) Ovaries and Testes: Androgen.

Blood level of hormones known to increase with exercise include: GH, catecholamine,
ACTH, Glucocorticoids, Mineralocorticoids, Glucagon, Testosterone, estrogen,
progesterone, TSH, Thyroxin and triode thyroxine. Blood level of Luteinizing hormone do
not change with exercise whereas insulin decreases during exercise.

SubQuestion No : 146
Q.146 ] ] .
Which hormone do not change with exercise

1. ACTH
2. 141
3.FSH

4. ADH

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496338
Option 11D : 37674924693
Option 2 ID : 37674924694
Option 31D : 37674924695
Option 4 ID : 37674924696

Status : Answered

Chosen Option: 4
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Comprehension:

A hormone is chemical substance secreted into the body fluids by an endocrine gland and
has a specific effect on the activities of other organs (target organs). An endocrine gland is
ductless and secrets a hormone directly on to the blood or lymph’s. The actions of hormones
are target organs include: (1) Activation of enzymes systems, (2) Alterations of cell
membrane permeability, (3) Muscular contraction or relaxation, (4) Protein Synthesis. or (5)
Cellular Secretion. This actions are brought about through a mechanism referred to as the
cyclic AMP mechanism. Some hormones have an effect only on specific target organ. The
predominant hormonal control system is negative feedback mechanism. The nervous system
is also involved in the control of hormone secretion. The hormones and their endocrine
glands, include the following: 1) The Pituitary Gland: ADH. Oxytocin, GH, TSH, ACTH,
FSH. LH and prolactin, 2) The Adrenal Glands: The catecholamine, epinephrine and non-
epinephrine, mineralocorticoids, glucocorticoids and endogens, 3) Pancreas: Insulin and
Glycogen 4) The thyroid Gland: Thyroxin, triiodothyronine and calcitonin, 5) The Para-
Thyroid gland: PTH. 6) Ovaries and Testes: Androgen.

Blood level of hormones known to increase with exercise include: GH, catecholamine,
ACTH, Glucocorticoids, Mineralocorticoids, Glucagon, Testosterone, estrogen,
progesterone, TSH, Thyroxin and triode thyroxine. Blood level of Luteinizing hormone do
not change with exercise whereas insulin decreases during exercise.

SubQuestion No : 147
Q.147 ] ) _
What is negative feedback mechanism?

1. Predominant hormonal control
2. Specificity of hormone receptor
3. Muscular Contraction or relaxation

4. Imbalanced pancreatic function

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496337
Option 11D : 37674924689
Option 2 ID : 37674924690
Option 31D : 37674924691
Option 4 ID : 37674924692

Status : Answered

Chosen Option: 1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247 Eoogle Play

Comprehension:

A hormone is chemical substance secreted into the body fluids by an endocrine gland and
has a specific effect on the activities of other organs (target organs). An endocrine gland is
ductless and secrets a hormone directly on to the blood or lymph’s. The actions of hormones
are target organs include: (1) Activation of enzymes systems, (2) Alterations of cell
membrane permeability, (3) Muscular contraction or relaxation, (4) Protein Synthesis. or (5)
Cellular Secretion. This actions are brought about through a mechanism referred to as the
cyclic AMP mechanism. Some hormones have an effect only on specific target organ. The
predominant hormonal control system is negative feedback mechanism. The nervous system
is also involved in the control of hormone secretion. The hormones and their endocrine
glands, include the following: 1) The Pituitary Gland: ADH. Oxytocin, GH, TSH, ACTH,
FSH. LH and prolactin, 2) The Adrenal Glands: The catecholamine, epinephrine and non-
epinephrine, mineralocorticoids, glucocorticoids and endogens, 3) Pancreas: Insulin and
Glycogen 4) The thyroid Gland: Thyroxin, triiodothyronine and calcitonin, 5) The Para-
Thyroid gland: PTH. 6) Ovaries and Testes: Androgen.

Blood level of hormones known to increase with exercise include: GH, catecholamine,
ACTH, Glucocorticoids, Mineralocorticoids, Glucagon, Testosterone, estrogen,
progesterone, TSH, Thyroxin and triode thyroxine. Blood level of Luteinizing hormone do
not change with exercise whereas insulin decreases during exercise.

SubQuestion No : 148
Q.148 - . ] : §
Which of the following hormones increase with exercise

1. Calcitonin
2. Insulin
3. TSH

4. FSH
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496339
Option 11D : 37674924697
Option 2 ID : 37674924698
Option 31D : 37674924699
Option 4 ID : 37674924700

Status : Answered

Chosen Option: 1
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Comprehension:

A hormone is chemical substance secreted into the body fluids by an endocrine gland and
has a specific effect on the activities of other organs (target organs). An endocrine gland is
ductless and secrets a hormone directly on to the blood or lymph’s. The actions of hormones
are target organs include: (1) Activation of enzymes systems, (2) Alterations of cell
membrane permeability, (3) Muscular contraction or relaxation, (4) Protein Synthesis. or (5)
Cellular Secretion. This actions are brought about through a mechanism referred to as the
cyclic AMP mechanism. Some hormones have an effect only on specific target organ. The
predominant hormonal control system is negative feedback mechanism. The nervous system
is also involved in the control of hormone secretion. The hormones and their endocrine
glands, include the following: 1) The Pituitary Gland: ADH. Oxytocin, GH, TSH, ACTH,
FSH. LH and prolactin, 2) The Adrenal Glands: The catecholamine, epinephrine and non-
epinephrine, mineralocorticoids, glucocorticoids and endogens, 3) Pancreas: Insulin and
Glycogen 4) The thyroid Gland: Thyroxin, triiodothyronine and calcitonin, 5) The Para-
Thyroid gland: PTH. 6) Ovaries and Testes: Androgen.

Blood level of hormones known to increase with exercise include: GH, catecholamine,
ACTH, Glucocorticoids, Mineralocorticoids, Glucagon, Testosterone, estrogen,
progesterone, TSH, Thyroxin and triode thyroxine. Blood level of Luteinizing hormone do
not change with exercise whereas insulin decreases during exercise.

SubQuestion No : 149

Q.149 .
Thyroid Gland Secrets ~ ?

1. Testosterone
2. Estrogen
3. ACTH

4. FSH
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496336
Option 11D : 37674924685
Option 2 ID : 37674924686
Option 31D : 37674924687
Option 4 ID : 37674924688

Status : Answered

Chosen Option: 1
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Comprehension:

A hormone is chemical substance secreted into the body fluids by an endocrine gland and
has a specific effect on the activities of other organs (target organs). An endocrine gland is
ductless and secrets a hormone directly on to the blood or lymph’s. The actions of hormones
are target organs include: (1) Activation of enzymes systems, (2) Alterations of cell
membrane permeability, (3) Muscular contraction or relaxation, (4) Protein Synthesis. or (5)
Cellular Secretion. This actions are brought about through a mechanism referred to as the
cyclic AMP mechanism. Some hormones have an effect only on specific target organ. The
predominant hormonal control system is negative feedback mechanism. The nervous system
is also involved in the control of hormone secretion. The hormones and their endocrine
glands, include the following: 1) The Pituitary Gland: ADH. Oxytocin, GH, TSH, ACTH,
FSH. LH and prolactin, 2) The Adrenal Glands: The catecholamine, epinephrine and non-
epinephrine, mineralocorticoids, glucocorticoids and endogens, 3) Pancreas: Insulin and
Glycogen 4) The thyroid Gland: Thyroxin, triiodothyronine and calcitonin, 5) The Para-
Thyroid gland: PTH. 6) Ovaries and Testes: Androgen.

Blood level of hormones known to increase with exercise include: GH, catecholamine,
ACTH, Glucocorticoids, Mineralocorticoids, Glucagon, Testosterone, estrogen,
progesterone, TSH, Thyroxin and triode thyroxine. Blood level of Luteinizing hormone do
not change with exercise whereas insulin decreases during exercise.

SubQuestion No : 150

Q.150
Which of the following is NOT a part of cyclic AMP mechanism

1. Alteration of cell membrane permeability
2. Nervous Stimulation
3. Activation of enzymes systems

4. Protein Synthesis

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 3767496335
Option 1 ID : 37674924681
Option 2 ID : 37674924682
Option 3 ID : 37674924683
Option 4 ID : 37674924684

Status : Answered

Chosen Option: 3
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